Shift planning
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Attention: The changing from one angular position to another is not trivial, so we foresee to have both Marc Anduze and Jean Charles Vanel on site at least for the first change.
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Attention: The changing from one angular position to another is not trivial, so we foresee to have both Marc Anduze and Jean Charles Vanel on site at least for the first change.


[image: image5]
Attention: The changing from one angular position to another is not trivial, so we foresee to have both Marc Anduze and Jean Charles Vanel on site at least for the first change.

1 GeV : run 121


2 GeV : run 120


3 GeV : Run 119





1 GeV : Run 128


2 GeV : Run 129


3 GeV : Run 118





1 GeV : run 127


2 GeV : run 126


3 GeV : Run 116 + 117





1 GeV : run 122


2 GeV : run 123


3 GeV : (run 95) 134





1 GeV : (Run 97) 132


2 GeV : run 125


3 GeV : (Run 96) 133





1 GeV : (run 98) 131


2 GeV : Run 113


3 GeV : Run 114 + 115





1 – Shot at the middle of each wafer with 1, 2 and 3 GeV


(One Run of 190000 events seems to be enough at each value of energy)
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6 run @ 1 GeV : 153,154


                            158->161


3 Gev : Run 155 (350Mo)





6 run @ 1 GeV : 137->141


	             143->146





4 run @ 1 GeV : 147,148


                            149 v.v. small


                            150 (1.4Go)


                            151





,   





4 run @ 1 GeV : 162 -> 165





2 – Shot between wafer with 1 GeV


(4 or 6 Run of 190000 events at each position)


BECAREFULL some MODIFICATION IN NUMBER OF RUN
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!! 3 run @1 GeV : 172,173,174


1 run @ 2 GeV : 171


1 run @ 3 GeV : 170





1 run @1 GeV : 167


1 run @ 2 GeV : 168


1 run @ 3 GeV : 169





1 run @1 GeV : to do


1 run @ 2 GeV : to do


1 run @ 3 GeV : to do





3 – ECLA at 30°


Shot at the middle of each wafer with 1, 2 and 3 GeV


(One Run of 190000 events seems to be enough at each value of energy)
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3 run @1 GeV : to do


1 run @ 2 GeV : to do


1 run @ 3 GeV : to do





1 run @1 GeV : to do


1 run @ 2 GeV : to do


1 run @ 3 GeV : to do





1 run @1 GeV : to do


1 run @ 2 GeV : to do


1 run @ 3 GeV : to do





4 – ECLA at 20°


Shot at the middle of each wafer with 1, 2 and 3 GeV


(One Run of 190000 events seems to be enough at each value of energy)
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Wafer pos. 1





3 run @1 GeV : to do


1 run @ 2 GeV : to do


1 run @ 3 GeV : to do





1 run @1 GeV : to do


1 run @ 2 GeV : to do


1 run @ 3 GeV : to do





1 run @1 GeV : to do


1 run @ 2 GeV : to do


1 run @ 3 GeV : to do





5 – ECLA at 10°


Shot at the middle of each wafer with 1, 2 and 3 GeV


(One Run of 190000 events seems to be enough at each value of energy)
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